Chapter 6
FRU (Field Replaceable Unit) list

This chapter gives you the FRU (Field Replaceable Unit) listing in global configurations of AL1712. Refer to this

chapter whenever ordering for parts to repair or for RMA (Return Merchandise Authorization).

NOTE : Please note WHEN ORDERING FRU PARTS, that you should check the most up-to-date information available
on your regional web or channel(http://aicsl.acer.com.tw/spl/). For whatever reasons a part number change is
made, it will not be noted in the printed Service Guide. For ACER-AUTHORIZED CERVICE PROVIDERS, your
Acer office may have a DIFFERENT part number code to those given in the FRU list of this printed Service

Guide. You MUST use the local FRU list provided by your regional Acer office to order FRU parts repair and
service of customer machines.
NOTE: To scrap or to return the defective parts, you should follow the local government ordinance or regulations on

how best to dispose it, or follow the rules set by your regional Acer office on how to return it.

53



Model: AA677

ey

Z

1£LL28S
‘ON N

VO

T L33HS 33S Q003 A3 04

54




Part list
A. For AA677 (Acer model:AL1717 Ams )

No. Photo Part Name Description Part No.
1 6 ' Back Cover Screws | MAX0.7+6P-ZK MAA20093300
M4X0.7+6P-ZK(GP) MAA2009330I

AA671D(ABS94HB, MBK56) FAAA671D000

2 ‘ BaseASSY(FOOT) | Ap671D(ABS94HB MBK56)GP FAAA671D00I

M4X0.7+11P-MC

3 a g Stand Screws WASHER DIM 8.0 (GP) MAA7000240l
AAG732(ABS94HB MBK56) FAAAG732000

4 -I . NECK COVER | An6732(ABS94HB MBK56)GP FAAA673200I
AAB731(SECC 0.8) ECAA6731000

6 s NECKBRACKET | Ap6731(SECC 0.8)GP ECAA673100l
ECAAG71E000

AABT1E

7 H HINGE ASSY AAST(GP) ECAA671E00I
. NECK AAG721(ABS94HB MBK56) FAAA6721000

AA6721(ABS94HB MBK56)GP FAAA672100]

o M3X0.5+51-ZN MAA00001260

o i SCREWS M3X0.5+51-ZN(GP) MAAO0000126|
10 Function Board | VK-583 LAR577Y 454AAP30001

~ BACK COVER,

y - Neck & Neck TPP-4.0+10P-ZK MAB20074202
Bracket, Chassis & | TPP-4.0+10P-ZK(GP) MAB2007422|

Bezel

55




AA6714(PC+ABS,MBK56) FAAA6714000
12 Back Cover ASM | \ A6714(PC+ABS MBK56)GP FAAAG71400I
. Hinge Serews TPP-4+12B-MC MAB80002401
g TPP-4+12B-MC(GP) MAB8000240!
" Mainboard & 4#40UNCX12.7 PLS-WASHER MAAAOQ019400
Chassis 4#40UNCX12.7 PLS-WASHER(GP) | MAAAQ01940]
CG10021V920
15 Speaker (R/L) 2W 40HM 37.5X17X9.5mm 50mm CG10021V930
5 POWER SOCKET | M3x0.5+6F-ZK MAA10022007
&CHASSIS M3X0.5+9F-ZK(GP) MAA1002200!
J | Power&Inverter
17 powe VP-768 LAAG77 453AC930001
5 Kov/B & Bosol TPP2X3+10B-MC MAB800014400
y TPP2X3+10B-MC(GP) MAB80001440]
0 zgw,sts%?éEgTH M4.0X0.7+8BTF-MC MAAB0014400
) M4.0X0.7+8BTF-MC(GP) MAA8001440
20 Function board to | \ps77 CTRL-KEY 13P DC020162300
Mainboard cable
) - AAG78(TIN 0.3t) ECAA6718000
AAG78(TIN 0.3t)GP ECAA671800!
’s 'F\,"jx‘:fggi f‘d”d M3X0.5+4C-NI(NL) MAA70003100
M3X0.5+4C-NI(GP) MAA7000310l

Screws

56




23

Mainboard

VL-731 LARS77Y

461AAI300E1

24

ASM

AAB712(PC+ABS,MCG28+MSV41)
AAB712(PC+ABS,MCG28+MSV41)GP

FAAAG6712000
FAAAG71200I

g soranscss A IEECE covero
26 painboard to LCD | jp577 PANEL-CTRL 30P DC020160700
27 LCD Panel(F) HT17E12-200 17°(HYDIS) AC6V0000200
28 LCD Panel(B) HT17E12-200 17°(HYDIS) AC6V0000200

57




POWER/Inverter Board

Description

This specification defined the performance and characteristic of power/inverter board.

It supplies the following outputs :
1). 5Vdc: Logic power.

2). 5Vaudio: Audio power.

3). 15Vinv: Inverter power.

Features
Input Voltage: 100 ~ 240 £109%Vac
Input Frequency: 47 ~ 63Hz
Input power consumption: Less than 1.2W @ minimum load
Total output power: 40Wmax
Inverter brightness adjustment: Burst mode
Protection function: auto-recovery type
Interface Signals
Input
1. AC Inlet: HUAJIE SA-4S-066 or compatible.

2.J701: SC SCJ-0345-1-X-9 3.6D BLU 3P or compatible.

Output Connector & Pin Assignment:

1. The connecter was pitch 2.0mm

PIN NO. Function Function
1 +5Vaudio |Audio power (optional).
2 GND Audio ground
3 GND Ground
4 GND Ground
5 Vbri Brightness control from logical board (0.4V to 3.3V)
6 I
7 Ven Inverter enable signal from logical board (high active , >3V)
8 +5Vdc  |+5Vdc supply for logical board
9 +5Vdc  |+5Vdc supply for logical board
10 +5Vdc  |+5Vdc supply for logical board

58



2.Inverter-side connecter : SM02B-BHSS-1-TB(JST) for AA677

PIN NO. Function Comment
Cth VBLH(High voltage)
Ctl VBLL(Low voltage)

Electrical Specification:

AC-DC Electrical specification

Input Specification

No Item Condition Min. Typ. Max. Unit
1 Input Voltage | - 100 - 240 Vac
2 Input Frequency | - 47 - 63 Hz
3 Input Current | - - -—- 1.0 Arms

Cold Start @Vin=100Vrms --- 30 Aop
4 Inrush Current

Cold Start @Vin=240Vrms --- 50 Ao.p
5 Hold Up Time @full load & 100Vac input 10 --- --- ms
6 Turn on time Vin =110Vac - 1.0 - S
7 Efficiency Full load - 70 - %
8 Consumption Vin=240Vac,@ no load - - 1 w

AC-DC Output Specification

Tolerance Output Current Voltage Tolerance
Output Voltage MIN MAX
+5Vdc +5 /-3 % 0.05A 1.5A 4.85~5.25V dc
+15Vinv +35/-5 % 0A 2A 20~14.3Vdc
+5Vaudio +5% 0A 0.6A 4.75~5.25Vdc
Ripple 1.Measured at DC output terminals . 1% +5Vdc:50mVp-p
which are paralleled with a 10uf +15Vinv:150mVo-
Ecap &0.1uf Ceramic cap. nv-15omvep
2.Band width is limited within : -
Noise . 3% +5Vdc:150mVp-p
20MHz. +15Vinv:450mVp-p
~ 0, ~ 0,
Dynamic Load 50~100% or 100~50% load change
Regulation of any DC output @50% duty of - +5% -
1MHz (min.)
Over / Under | @ Power line on/off - +5% -

*+5Vdc load regulation test: the +15Vinv loading at 2.0A

59




*+15Vinv load regulation test: the +5Vdc loading at 1.5A

Protection function
1) SCP: Short circuit protection must be acted on both outputs

2) OPP: Should be protected when output power consumption is within 60W ~ 75W

Inverter Electrical Specification:
For LPL LM170E01-TLB3

Condition Min. Typ. Max. Unit
Input Voltage - 15 - V
Input Current - - 1.5 - A
Backlight ON/OFF ON 3.3 \Y
Control OFF 0 \V;
Min. Luminance / Max.
Brightness Adjust " 30% " "
Luminance
Output Voltage Vin=15V, lout=6.5mA 640 650 745 Vrms
Brightness lamp current in 6.5mA 300 Cd/m?
Output Current(Each Vbri=0.45V~3.6V 3 6.5 7 mA
connector)
Frequency 40 70 KHz
Lamp start voltage @0C - 1000 1250 Vrms
Striking Time - 1 - S
Lamp Current Balance 0.3 mA
Efficiency Vin=15V 80 %
Operating Life Time -—- 50000 - -—- Hr

60



For TOPPOLY TD170WGCB2

Condition Min. Typ. Max. Unit
Input Voltage - - 15 ---
Input Current - 1.5 -—- A
Backlight ON/OFF ON 3.3 \Y,
Control OFF 0 \Vi
Min. Luminance / Max.
Brightness Adjust 30% -
Luminance
Output Voltage Vin=15V, lout=6.5mA - 655 - Vrms
Brightness lamp current in 6.5mA 300 Cd/m?
Output Current(Each Vbri=0.45V~3.6V 3 7 8 mA
connector)
Frequency 40 - 60 KHz
Lamp start voltage @0C - 1120 1460 Vrms
Striking Time 1 - S
Lamp Current Balance - - +0.3 - mA
Efficiency Vin=15V - 80 - %
Operating Life Time - 40000 - - Hr

SAFETY
Leakage Current: 0.25mA @ 100Vac

Insulation Resistance: more than 3M ohms while withstanding a voltage of 500Vac

Hi-Pot: 3Kvac with using 3mA cut off current

61




Power Consumption

The monitor is equipped with a power-management according to the below.

There is a delay of 5s ... 7s before the transition from On-state to any power saving state to avoid

unintentionally entering of a power saving stage during display resolution and timing mode changes.

Transition from any power saving state to another can be instantaneous.

The recovery from Off-state requires no manual power on.

Mode H-Sync. V-Sync. Video Pw-cons. Indicator Rec. time*
Power-On on on active <40W Green LED -
Dpus off off blanked <2W Orange LED <58
DC Switch-off <1W Dark LED
SYNC. On means: Normal operation
SYNC. Off means: Hsync. F <10KHz duty cycle > 25%
Vsync. F <10Hz duty cycle > 25%
CONNECTORS / CONTROLS
Connectors
- Power : Monitor rear side :AC Inlet
- Analog RGB : Monitor rear side / Data Cable : 15-pin D-sub female / male
Pin — Assignment of 15-pin D-sub:
1 Red Video 9 +5V FOR DDC
2 Green Video 10 Detect
3 Blue Video 11 Serial Data for ISP
4 Serial Clock for ISP 12 Serial Data for DDC
5 Ground 13 H-Sync.
6 Red Ground 14 V-Sync.
7 Green Ground 15 Serial Clock for DDC
8 Blue Ground
- Audio : Monitor rear side
-PC I/P for PC : 3.5mm Stereo female
Monitor Control Keys

KEY : Power , Menu , Adjust +/- , Vol +/-, Auto

Position Of Controls

Position of all switches : Bottom side of front bezel

Position of LED : Bottom side of front bezel

62



Chapter 7
Schematic Diagram

63



LAk | ey
Jaquuinn juaswndog 32

89IA 9/7410 "dhewayg
A1)

."ONI ‘SOINO¥ 19313 TVdNOD

90s8020TVA_LS 137

ER\E ENGERT] I
e EE

e
10

% 001V
InTEod T390d 9o g «Hﬁmm”wmmw VVas-5ad 00% o
RATCOK 8T/€ gv di-0aaK—"gr5aa Sw > m-m
M o
oL oL oL -
ngsz Lo agsz o nesz  Aesz L Aesz o o 01
\ 4 \ 4 \ 4 \ 4 81y & L1d ¢ ol
ea sa va £a za
DIEaTavovY
ONASH VOoNe0aa
L 29A0—————1
Y-vas-0dd qns a - qIad
v 105-00a Eo ysiva  1d
E
ez
4d2y
1y
60
ONASHY & 5tsy \AAAS T ONASH
NI . 2019809101 1
ez
dsy
1y
ONASAY K&—5rsAv AAATBNASA
ST 0 1
EEJaNg DNAS-H 3 D¥AS-A
00, 001 $001 _ _ N 403130-318¥0V 5313 TTav0
%wiSL S %L S %li6L
Ly Qou O 6y . .
N 28 EN = ans-a =
S Ene—z77g 001 8y —
Anzp0°0]| 22
: e Anzp00|| 90 %795 by €1 V00NS0aa V105000
. X % T 0 OIS
N N30 K—zams : DNASA
42600 S0
s NIROKREEms AAAS Imaod ONASH
R aa 4nz60°0] b0 %298 £y o o
RED] ool €5 NIFG0-0d Vvas-5ad
¢ +aN L3y AAAS [SEREeE] -
Ay 20 %298 2y o 1
IND
$ ONIF-0dL—=Rg39557 i
400 1D G RN

IDNVINAINT IANT VOA

64




L Z I I 2 I S
G J0  y  eeqg
<ow_ Lavidr | gy
79 JOQUINN uoWnood |
891A 9/74.10 "ohewsyog
A1)
."ONI ‘SOINO¥ 19313 TVdNOD

+

N9'SZ \CR74

¥0¢d €0¢d

A9'GZ LW
20ca

a-vas-2ad
a-10s-0aa

sazed asz

00z =
R
. i 105000 (0L 2]
9t dM0AaK—grtsaa oot 8024 B
e o
LS Mol S oL -
T ¢ T T fduze]
02y b0zd Q £02y
[GRRIGI]
o |
A IAQ - drIax
€ V5LV 107

) @lIna

: W& R3]
H W - N
%EH
JS0801
1020 Eﬂ—ﬂhﬁwm_ 1L 202y
& .s.EMM G-00AS-00a AN
S -k
CR X

91031303 18Y04 K g aTavoa ook

LOZNO

65




T 7 I © 2 8
W0 5 EEZE | 5002 70 AInf_RBpUoi E
Y0 L L
1oy 1equIn JUBLINS0Q
892~ I\ G/T4LO ‘Dliewoyos
«"ONI ‘SOINOY.LOF T3 TVdNOD
E
1dzz 880
*— &
E NN_Ro -
X|X| =
e
] WW6> c_n:< 8 w0
o JUEDE] HHoHE ‘ oL
) % oet v 960 Sed
= e > S $555vA TASTEK LOOS YW 133y 9
= = = NI
= —x
—
4do0L/ON 4900L/ON
= GE0 0 =
880 MLy bed 1 #A9LHNOL
JdozL NSl 60LY WA, o hY|
g1y Mg'h um I
L] 0559 9 zay l - & 0] £60 62 _ Ny
° v (E1 AN 4 donee . o
A4 i
o Q¢ v v
v G HCH v
v Do i 4
NIVd v
Vv f] v
AIRL ] v
V1va rv9snsL
VIV
9 [27clviva ) = — —x
7 0N1va
—x
—x
I oL I
I @l B =
i A8 ..mH —x
= i il AL X
= £ [ —
H L -
LW Qe —x
ano 4nL0 | A8HEn00k anvo w a,..u L
N
0£0 | 620 Zo T 2 H e T
4 AL
%o ¥ AL
QANVE'E O GeTO GaAEE u t&w e ONASAV €
TVEL
Qs0601 H o ONASHY €
A ADRNETIORE wir i 2wl VL ..wmu,w M
Lo e T ONIFODd €
= I ANOWL AW NIRO €
- H e T BINEE NSRS
W RSENIE
+a3d
ano | anio | Sne | dnvo | dnvo | =nvo | anvo | dnto | dnvo
QAT O—r ST O daaet
O GOAVEE
- o
= aans'h aanes

dnio | 4ni'o | SN0

4no

20 [ e [ a0 [ w0
aans'Lo o aael Q¥0 55YA AL DNITVOS

adnet

QOAET




A-QF1d-Cl

#v- 005¥ 133

2007vZ

vas

ES

— AN
9-a31d

asoziy
0oL yoy

dNd WYEVeIvLq,

EREre] ) N
T 20
&nLo
50A
610
aa
o)
aan
_ A
ISR
. agozvy
. . . i . . = 0L e
T T T T T T AS6Z- ENOLENT N
a0 | dnvo | anvo | anvo shron | anvo = dNdVXAKZHVLIG
— == = == == 6NOD
80 | L0 | 90 | 0 | w0 | €m0 e 10\
OINVADI £ 099 l_ n
FESRAVEN ] =
ONFIVAAS_EE 853
MIFTEN I EINAA 759 _I|_
EGERENIG 954 o 2o S
TIONGADI €€ B dan
aaa
ML S oL S ok S vior & vok & ol 5aT1d
xaTd
[N NP AR NI SRV SN AN ] o
o
aan
ool S00L/ON
6Ly sy
. 2 DAIRDREL U’IH.H
[E— vvasoaa €
12l Y-¥as-3ad - -
9zl velosood\ v OSP00
@ 0I0NV-0ddS - e —
103130-318VIY
dM 103130°519v00
g WJ<AA 004 e
# 5219 V-10500d
— Ao Vs odd
M 208 Zay #0 vy Y-vas-0ad
ZHM
SN3_Dne
o EMENZ]
§ 100 SV L3ISIUK— 555w Ta5Tw N
CLNVASY 0 T2 o-aTol
530 VAAS 0 A RPN
ONFIVAASY
A
“NATAD PEREE]
THONO A
| MgHON
vIva 1 1o o <ot
VIva Ldzz 150 £d 1oy
VIV ZHNZ) eny Q2
VIVa
VIvg " Vo x )
(oA va = =
IVIVa VIVa .—- Il
VIVQ . Viva Lo 11 y
SVIva | Wolvivage ob 2dzz ovo o
Wiva aan
Y 5y 680
£VLVa
ZvIva
VIva Qan>
ovLva
[ IS}

67

103130-31avoV €
193130-378v00 ¥

aMoaa ¥
+N3TDIg
ILON TNV
N

B~ @




Z192N|
9

00ENY OML-d

LNOA T3NVd
INOA TaNvd
INOA TaNvd

0/ON

LY

SAATI3S

L
VKL

WL

£V

"t L

HEVEL
TN,
EWEL

& M

+HOWEL

L

R mma

LI
4 WO L
WL

wwoWooe

v w

BwwoWLoo

wwvo oL

MOL/ON MOL/ON

694

adae'e

€6

MOLION

$6%

18L/4n00)

280
asoziy
002 4no

994 150

|8uuEYO-dBOS DML

PPNAY

ML yZOsT

MEHEOSZ

80

90

1NOA TaNVd
asoso g1

LR O L R

m

ee 29y

AOL/4N000L

e

082

bl

Mo

68

ASNYd

0/ON

88

&

TLOATIEANYE 9

[ee]
O




4 | 3 | v | s
E] 13Uy 500z ¥0 AINf_"AeDUON_____@leq
LT U LR
89/ €/THLD ‘dlewoyos _
ap ano-olany .
."ONI ‘SOINO¥LD313 TVdINOD
NI IN0 aND/rav
3 z T =
O/ON  08Y
l_ M _| AANE'E O—— NN~
MZZION
z5Z-108 A9L/ANLY
oL 4nL0 ~
€2Z-LOS HDEE- 6.4 f— L0
LTTTIdY 580711dY
Tt got S 1HowE ) 78
Jnoa ¥ LG ]
o M 204
aang’ e o——— NN\
- . R B MZZ 824
AOV/4N0ZT 4no 4no | MBLARCOL =
00 2o 120 690 N&N Wx3r21o1d
€2Z-10S
902T o
# oz -
o | a #5 1HE 090
D
ONSL-ZLLLTdY 902T [E:N]
aang't o ©
aance
QoA [y =]
Ny L
oL AAAS
BIEATLTLES LRHMNEE
y2d
olanv-A =
. = 0.-005% 193
297 T
5080
029 4n100 | AoMdnoze
2004 590 7907 [
AANAS
WCEATLTLCEE LA LT
= = = = = = = AG+:DTBOT I04
9INO
00A
8 LEA00L =
= anio 0L/4N0ZT dnio 4710 | Aok/Enoze
290 650 * 190 £-CSTOL 090 890 4nioo Aol/4n0zz
180 950"
\AAAS ¢
TWTH LR O y \AAAS ¢
3067801 1dV MOCEHTLTLEE AWAr &1
aaac'e 90zT 8N
- 201 NENYd
400k




=
ano~olany
MLLPZOST
2050 K olanv-ad
SoL Lzgd
ane-olany OON  0z6Y
o o
224
2050
ano~olany
oIanv-A
_ aND olany
ang-olany ﬂ 00
aNo~olany
ani_|dnvo_| » =
aNe~olaNY 150 | o150 SI00% 015y EE
Esa) Wiy S @ity
$'NOD _ _
AND0IaNY aNDOlan #0 EN] 2054 ¢ 105y
ﬂ EE0
I NEE0
= 300} = N \
o PR 13028 LWYIL0ST
cosr BIEN) NS o_qn_:ﬂ
L
tosf _ _
L ANS olany aNo olanv
QIdnv-n
AEYIH00LY
ano
2080 -
oidny-n 1080
oIany-n oIanv-n
_ ane~olany
ans olany
oL nez
8154
60507
L L]
5
- O/ON 505y Losb ML 2154
7 10N 0laNY ¢ !

MZZ
9154

70




12
o] NN awoq

89/-c/\ 843N0 "DILYWIHOS
on,

“ONI "SOINOYIOETE T7dWOD

szi
o
“ab 058
¥\ T vied
r 6064
i m m WW
ot
- | | 5050 66
£090/3L/ Ls | 0sg/xL vE9 | LEGH [ eiig, % 2060
Eed® b oo oo
€0o0/21/ 815 | €093/51 veo | 9E6Y 3 - |
WP AG L T A¥AN SN o HLReor| L0607
= e azezi -
R10dd05 13T s R oAuas o . -
Bty " 1
it Y [l Wy
wa e
TR TE0ET
el 11 99620 YON | 01| peso “o ]
. peeo—— 3
yovs & | v . y aNoAd vaan
St 0 | zetw 0 seno | 2800 5 — . Lss| o Lo oo
P o ciey 7o o1
- a st 1 wa — e
. A s
o 68163 a Stz o ¥ ANGd ano bt
== . oo 627
ST F—tele sl v MO | 5 b i
Wy 0
v W - 02dOSIOr9620 SO [063
ity
! Lo, I | SV <Jeen
163 Y
— v rEld ¥ 17l Eres
wxnsy
€ a s Y
oL 0160 R
] o250 ML % Ly 508
ol a S wzemy | =
Sl e s You $”tosaz 51 o0k 2
s e 2% i 8 s
wxtey | RO Aserarory
160 o) o
— L o
7 theo
cos0i00s
Bt HEE090/201
= T vieo
= P = = Zigrv
coen
ke T e
aced Lzod y
cosgiLy ==
5155
easoror
it
e
gt} b
A
el ¥ o
e H
wpg = & lr.anp oley B L]
000 E m M o
s whee
Seea =y
Q98 150108 wEzmeos
Tocr Toan
. - sl
ViLzey sz coay
o om0z fi [
ety -
T+ T = Az
0685
szl AatwoooL~Le
LT e
L L . \7r
uroLsa szl sor AvoLoLd
= IHOHO N £080 208y o_wol_\ 60807
[ — - o H\ I .
- ON AOLAN00GL ADKANO00 | T
ven} ok fs el T oTE s 90208 S0z 0 ez
o iy v o
e T
o wavan s
= Si0Ho S80S e mel
m . A0OVIINZE: S 1Y 0ZLA0LG 1A 201
108 080 i w0 | =
T N z v Jox ines:
s gl P == Sor0
. ¢ 4020 g 3
¢ . s hzon
nsavory ke . zosua | czea soet ey e
20 T = B o
r 3 VRDBd 3snd M zo P Mgl
o oo
4 L
_|_ lﬁ H 7 hil
nin<—} o8 ¢
. SZAN0LY  NSZINCLy N
oo | weo | o3 | iz

% e o

MVZOL 3SNSMZILOL
1283 [

71




| 14 ] € 14

E 10 3 1oaug 5002 0 AINf_Aepuopy -a1e(]
V0 dovyor | v
ASY Jaguinp JuswnooQ ozig]

89N /A3 OILVINIHOS
oL

"ONI ‘SOINOYLO373 TVdINOD

ano aNo aNo© aNoS ano ano aNo©

HIWL HOWL HIWL HIWL AL

~
~

aan

C—u C—u C—u C—u C_u 1a3an
aND =26} L= o) £ 0 28 O [3-30¥6}

+d &0rL
-d

A-d31
- +1 o-a3al
- dND
44ONO-ATM |
zr +NN4-A3IA
e ONITIVA-AT

OJd-IVA-ATIM
OLNV-A3A

72

TS (4] €S vs Sss

IoMOd nusy A_ _v oany




